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SOCIOLOGY
PAPER —1I

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1.  “Mind, Self and Society” is authored by :

(A) Cooley (B) Parsons (C) G.H. Mead (D) Margaret Mead
2. The concept of role in sociology refers to :

(A) positional aspect of the individual (B) static aspect of the position

(C) behavioural component of status (D) normative aspect of behaviour

3.  Who among the following propounded the idea that conflict is endemic to imperatively
co-ordinated associations ?

(A) Karl Marx (B) Lewis Coser

(C) Ralph Dahrendorf (D) Max Weber
4.  Mechanical solidarity develops out of :

(A) likeness (B) differences (C) hatred (D) love
5.  Symbolic interactionism usually refers to :

(A) An inner aspect of human behaviour

(B) Phenomenological aspect of human-behaviour
(C) Interpretation of the meaning of actions

(D) Sentimental outburst of the actor

6. Cannibalism and infanticide can best be described as cases of :
(A) Cultural relativity (B) Ethnocentricism
(C) Cultural pluralism (D) Cultural selection
7. Arrange Parsons functional problems given below in proper sequence :
1. Integration 2. Latency 3. Goal Attainment 4. Adaptation
(A) 1234 (B) 4213 (C) 4312 (D) 3241
8.  Which is the cause of increasing divorce rate in India ?
(A) Economic independence of women (B) Prosperity of the country
(C) Immaturity of the couple (D) Iliteracy
9. is a very important function of religion
(A) Magic (B) Ancestor-worship
(C) Animism (D) Social control
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(C) Jranfeeh Sl =l sTaRuerard (D) stfaren

9. =9 uf o1 o Hequl YRt i €2
(A) STg (B) YaSI-TST (C) 3TTcHaTS (D) @ISR T

J—0505 3 P.T.O.



10.

11.

12.

13.

14.

15.

16.

17.

18.

Which of the following is not a religion ?
(A) Jainism (B) Buddhism (C) Sikhism (D) Shaivism

Which of the following statements is not correct ?
(A) Culture gives structure to human life

(B) Structure gives culture to human life

(C) Culture is a major part of socialization

(D) Culture shapes the personalities of its members.

Cultural substitution is a process of :

(A) Cultural change (B) Cultural Assimilation
(C) Cultural diffusion (D) Cultural lag

Who expressed the view that education is like a bridge between the family and wider
society - preparing us for our adult roles in Society ?

(A) RK. Merton (B) Talcott Parsons
(C) Emile Durkheim (D) Max Weber

Which of the following is not correct ?

(A) Quality of education improves one’s life chances.
B) Education empowers women

Education of women disempowers men

)
D) Education emancipates people

Which of the following is not a characteristic of religion in modern society :
(A) Religious plurality (B) Private religion
(C) Totemic religion (D) Feminine religion

Which new type of family is emerging in developing and developed societies ?
(A) Extended family (B) Patriarchal family
(C) Matriarchal family (D) Single-Parent family

Which of the following religions does not have concept of divinity ?
(A) Buddhism (B) Judaism (C) Christianity (D) Islam

The meaning of symbolic interactionism, according Blumer, is that :
(A) People interpret and act on the basis of symbols

(B) People act on the basis of their liking

(C) People do not bother about the symbols

(D) People act according to their interests

J—0505 4
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17.
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19.

20.

21.

22.

23.

24.

25.

26.

27.

Of the following, who introduced the term role-set in sociology for the first time ?
(A) Ralph Linton (B) R.K. Merton
(C) S.F. Nadel (D) G.H. Mead

Ram is an administrative officer; he is a son of somebody, husband of somebody, father
of somebody, member of a club etc., this is an example of :

(A) Role-set (B) Status sequence
(C) Multiple roles (D) Status-set

What does ‘exchange marriage” signify ?

(A) X marries Y’s sister and Y in turn marries X's sister.
(B) X marries Y in exchange for dowry.

(C) X marries Y in exchange for bride-wealth.

(D) Marriage of X and Y involves exchange of gifts on both sides.

The term anticipatory socialization has been used by :

(A) Mead (B) Cooley (C) Merton (D) Sorokin

Which one of the following statements best describes social mobility in the caste system ?
(A) Mobility in the caste system is not possible.

(B) By acquiring wealth and prestige it is possible for an individual to change his
caste.

(C) It is possible for caste groups to move vertically in the caste hierarchy.
(D) It is possible for caste groups to move horizontally in the caste hierarchy.

The notion that men are stronger than women is a :
(A) Belief (B) Norm (C) Value (D) Sanction

Cooley is noted for his distinction between :

(A) In-group and Out-group

(B) Primary group and Secondary group

(C) Mechanical solidarity and Organic solidarity
(D) Militant society and Industrial society

Racism is the form of ethnocentrism based on a belief in the superiority of a group’s :
(A) Socio-economic development (B) Cultural evolution
(C) Biological endowment (D) Technological development

Which one of the following is not included in Merton’s analysis of deviance ?
(A) Alienation (B) Innovation
(C) Ritualism (D) Retreatism

J—0505 6
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28. In Sociology ‘culture’ refers to :
(A) Good manners (B) Literary and aesthetic sensibilities

(C) Civilized conduct (D) Mode of living of a community

29. Changes in social positions with regard to variations in occupations, prestige, caste,
class and power is referred to as :

(A) Social change (B)  Social mobility

(C) Revolution (D) Revivalism

30. Which of the following is not a primary institution of society ?
(A) Economy (B) Social Stratification
(C) Polity (D) Family

31. What is dysfunction in Sociological Context ?

(A) Useless consequences of an activity.

(B) Negative consequences of an activity.
(C) Multiple consequences of an activity.
(D) Irrelevant consequences of an activity.

32. Who has named his approach as Marxological approach to understand culture and
personality in Indian context ?

(A) A.R. Desai (B) M.N. Srinivas
(C) D.P. Mukherji (D) G.S. Ghurye

33. Who said that Social Anthropology is the same as Comparative Sociology ?
(A) Radcliffe - Brown (B) R.K. Merton
(C) Malinowski (D) M.N. Srinivas

34. “Infant mortality rate in a state in India appears to be influenced by the percentage of
female literates in the state”.

In the above statement, what is the independent variable ?
(A) State (B) Percentage of female literates

(C) Infant mortality rate (D) Percentage of females

35. A lady uses a weighing machine that has been tampered with by her children in such
a way that it would show 5 kilograms more than the correct weight. Every time she
weighs herself, she gets the same weight. The weight indicated by the machine is :

(A) valid but not reliable (B) reliable but not valid
(C) reliable and valid (D) neither reliable nor valid

J—0505 8



28.

29.
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36.

37.

38.

39.

40.

41.

42.

A health planner is concerned about the perceived increase in the prevalence of HIV
cases in an area. In order to mount an effective prevention programme, he needs to
have an estimate of case-load involved vis-a-vis HIV. What type of research design
must he follow to realize his objective ?

(A) Exploratory (B) Descriptive (C) Explanatory (D) Evaluative

A statistical null hypothesis comparing two means (X; = X,) is of the following form :

A) X,=X, B) X;>X, ©)  X,<X, (D) X;#X,

When one is interested in selecting a representative sample of households in India, the
most cost-effective method of sampling would be :

(A) Stratified random sampling (B) Simple random sampling
(C) Purposive sampling (D) Multi-stage cluster sampling

A researcher in an effort to understand the strength of association between family
income and marks obtained in the higher secondary examination calculates the co-
efficient of correlation whose value is 2.1. This means

(A) that income and school performance is highly correlated.

(B) that income influences school performance.

(C) that income’s impact on school performance is two times more than usual.
(D) that there is an error in calculation.

When one decides to use stratified random sample, the stratification should be based
on the principle of :

(A) Maximizing variance between strata and minimizing variance within each
stratum.

(B) Minimizing variance between strata and maximizing variance within the strata.
(C) Minimizing variance within strata and minimizing variance within each stratum.

(D) Maximizing variance between strata and maximizing variance within each
stratum.

Standard deviation is :

(A) Square root of the average of squared deviations of individual values from the
mean.

(B) Square of the variance.
(C) Square of the average (mean) deviation.
(D) Square root of the average (mean) deviation.

Unit of measurement-free measure of variablility of a frequency distribution is :
(A) Average deviation (B) Quartile deviation
(C) Standard deviation (D) Co-efficient of variation

J—0505 10
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43.

44.

45.

The following data relate to the number of marks scored by 11 students in a sociology
course on research methodology :

Student A B C D E F G H I ] K
Score 32 | 35 | 45 | 45 | 52 | 53 | 54 | 54 | 54 | 55 | 62

If the mean of the above distribution has been computed as 49.18, what is the difference
between the mean and median of the above distribution.

(A) —3.82 (B) —4.82 (C) 5.82 (D) 4.82

Match List-I with List-II

List-I List-I1
(a) My one and only husband (i) Polyandry
(b) Radha was my first wife, (i) Monogamy

Sita was my second wife,
they are remarried now

() Meet my husbands (iii) Consanguinal

(d) Why get married and ruin (iv) Serial monogamy
a perfect relationship.

(v) Polygyny

Codes :

@ ®m (@ (@
(A @ v @ ()
B @ () @ ()
© @ © O W)
O O @ v (W)

Assertion (A) : Reference group formation is functional to the individual and society.
Reason (R) : Reference group formation leads to anticipatory socialization.
Choose the correct code given below :

(A) Both (A) and (R) are true and (R) is the correct explanation for (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation for (A).

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

J—0505 12



43. 9 e fawg & o Wy s1erae ugfa o 11 fomnfefai 3 s o g frd e = ®

fgamef | A| B| C| D|E| F| G| H]| I

]

K

ik 32 | 35 | 45 | 45 | 52 | 53 | 54 | 54 | 54

55

62

A 37 SRSl ot 3ia fepTelt S O SWe T o1 Sfied Td HeA 1 F1 TR R 2

(A) —3.82 (B) —4.82 (C) 5.82

44. gA-1 1 FA-11 9 g

Heit-1 geit-11
(a) W TH TS gl dfa (i) wgufd
(b) el HY wRed aet off, Hi (ii) T °fd/ 9l foame
T I U off, o1e 3%
a0 wel A §
(c) Tufqi g fafaw (iti) TR TFSET
(d) foare F=ii feen s i gof (iv) sHHeG Tk foeme
Ty e oy smd
(v) o T
G
@@ () (@ (9
(A @ v @ ()
B) G @) @ ()
© @ © O (@
O ® @ @ ()

45. R (A) : T YT H1 I Al TS GO % T gt S ¥
THIT (R) : Heof THE 1 a1 ST FHTSIeRtor shi 3R & S |
frfafad 9 92t &I &1 =37 X
(A)
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46.

47.

48.

49.

50.

Match List-I with List-II.

List-I (Author) List-II (Concept)
(a) Melver and Page (i) Pattern Variable
(b) T. Parsons (i) Master Science
() R.K. Mukherji (iii) Middle Range Theory
(d) R.K. Merton (iv) Border Line Community
Codes :
@@ ® @© (@
(A) (@v) @) (@) ()
B @  (Gv) () ()
© @ (v (@) )
(D) Gv) @) () (i)

How would you describe a Social fact ?

It is .

1. External to human mind

2. Constraining

3. General

4. Sum of individuals

Code :

(A) 1,2and 3 (B) 1,3and 4 (C) 2,3and 4 (D) 1,2and 4

The concept of “collective representation” has been put forward by :
(A) Karl Marx (B) Durkheim
(C) Max Weber (D) Levi-Strauss

The following four scholars contributed to structural and functional perspectives.
1. RK. Merton

2. Auguste Comte

3. Talcott Parsons

4. B. Malinowski

Which of the following shows the correct chronological order ?

(A) 1,234 B) 21,43 ) 2,431 (D) 2,341

When it is claimed that a hypothesis is tested at 5% level of significance, it means that :
(A) There is a 5% chance of rejecting the hypothesis when it is true.

(B) There is a 5% chance of accepting the hypothesis when it is not true.

(C) There is a 95% chance of rejecting the hypothesis when it is true.

(D) There is a 95% chance of accepting the hypothesis when it is false.

-00o0-
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46.

47.

48.

49.

50.

gei-1 o1 gei-11 § faed

qelt-1 (TEeh) Fell-11 (31RO
(a) BN T IS (i) TeuHE wd
(b) A (i) el foRm
(c) STk q@sit (iii) Tiea I fastd
(d) STRF.THA (iv) B % 9S™
G

@ @ © (@
(A) (@v) (@)  @G) (i)
® @ G G) (i)
© @ (@Gv) () (i)
(D) @) @ (@) ()
Y GHTTSTeh G2 hl il SFH 1?2 I8 :
1. A afesh 9 =&
2. gfaaush
3. M
4. FfFE 1 AN

(A) 1,2WE3 (B) 1,3 T4 (C) 2,3WH4 (D) 1,2WS4

‘wrertaes wfafafie’ @t sraumoen fr=1 5 9 forg =1 82
(A) el AT (B) 3fEm
(C) He TR (D) ort-T

frefafeaa = fagri 3 d=rTre T gemicrs e § Frer arn |
1. SR, A

3. T &

3. AcThe Y=

4. Y. BfeATrer=ht

=1 § 9 & 1 92 STgHAfTen § 2

(A) 1,23, 4 (B) 2,1,4,3 (C) 24,31 (D) 2,3,4,1

ST 9% T ST § o SUsheu i 5 WA R ol Heed WR SieRl ST § 1 59 T T ol §
o -

(A) 9 I TE Bl €l SThTUT hl T B % 05 Ffa9d ht TEIEET St 2

(B) <T& I8 Wl TRl § T SUhTU I A o fAW 5 W bt Frran 2t 2|

(C) 9 I8 &l T I STheUT i & ¥ & 95 HId bt TETaT Bl S

(D) 9 I8 Tad Al STReUT hl A 3 95 T hl EITEAT Bt 2 |

-00o0-
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